PIwo a7 "0 2,30 P .72

— 377 SINRD PITAT an PITITRS
‘When he damaged, the damager is liable’; this includes the ‘horn’

OVERVIEW

The X773 explains that according to X" the phrase P>t 2n P>1AwD (in our 7IWn) is
seemingly superfluous and it teaches us the aX of 17 according to X, or various
other 2211 (as mentioned in the subsequent ¥n»72) according to 27. However,
according to X701 27 the phrase ' 17 20 P 1Aw>' 1s necessary to teach us that there
1s a 21’1 of 7" 1n a oMW X1, How then would X701 27 explain the position of
X or the o°21n of the Xn»1 2 which are derived from p°man an porwa?! Our
mooin resolves this difficulty.

nooIn asks:
= 2499990 99 HNMWY )P INND 1Y NI NTON 299 99NN ON)

And if you will say; according to 1''S (who interprets the words 'P>17 2n poriwd'
[of our mwn] to inform us that there is a 21°1 for Pomw: 7%r) how will he derive
7P according to “Nwmw, and all these other 2°avn which the Xn»92 mentions
according to 29 (that are derived from the phrase > 21 P1w3)?

mooIn has an additional question:
= NTON 299 NOWP 2310 D3 INNRD 9090 PI1NN AN PIIAIYI NPT RNI2T 1Y)

And furthermore the 8n"92 which states that the phrase p 177 an Poraws is extra
(in our mwn) but it is taught to include all these (2°21n that the Xn*°72 mentions);

this ¥n™71 is difficult to understand according to 1''9, who maintains that 21 P>1Ww>
PT1 1s necessary in our 7w to teach us the 21°1 by omwi 2xm.

Mo0IN answers:
= NIN® NN ) NYTDT 91990 W

And one can say that according to r1"7 the phrase p>m7 2n P17w2 is also extra -
— PRNN AN PV 2NOY XD 2990 PN PININ MY 251Y s8N MNY

for in order to teach us the 21°1 by 1amw: ¥, the mawn could have merely stated
that by '»sm P2 mwY' (which is Pomwi 9xm) you are '291'; and the mw»

should not have stated the words '35 an P9wa'. From these extra words we derive
177 according to PRmw and 177 93" according to 2.
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mMooIn remains however with an additional question:
Lixm9an YUPIN ININWVYT NV IN

However, there is a difficulty, for according to ®X»w, who maintains that p>17w>

P°TAn A comes 1P MINRY; the Xn»ma is difficult, for it states that P> an pPraws comes
°177 22 " InRY and not 17! MooIn does not answer this question.2

SUMMARY
According to n"1 the words P> an P 1awa' are extra (to teach us 17p or 177 92') for
the 71wn could have merely stated 217",

THINKING IT OVER

1. When moon asks that there is a difficulty according to »xmw,” did 900 mean
that there is this difficulty regardless if we follow the view of 1"7 or X"9, or this
difficulty is only if we accept the view on one of them?’

2. mooin final question is on YXmw.” Is this question related to what this Mmdon said
previously, or is it a general question on X1mw?

' See “Thinking it over’ #'s 1&2.
% See p"nuow.

? See footnote # 1.

* See n"na.

3 See footnote # 1.
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